
R0015303 Fit backplates and covers

Fitting of �nal parts to rotary ring after electrical installation and function testing

Introduction
Tools Required

Standard screw driver set

Standard hex key set

Countersink tool

Parts Required

D0007777 Back plate x 2

D0007844E Connection box lid x 8

Medium 2 hour(s) Dif�culty  Duration

Contents

Introduction

Step 1 - Unless otherwise stated

Step 2 - Prepare backplates D0007777

Step 3 - Ring Rotation

Step 4 - Fit 1st Backplate A

Step 5 - Fit 1st Backplate B

Step 6 - Fit 2nd backplate

Step 7 - Re�t Access panel

Step 8 - Fit connection box covers

Comments

Page 1 / 8



Step 1 - Unless otherwise stated
Use Loctite 243 on all fasteners

Pen mark all bolts to show �nalised

Step 2 - Prepare backplates D0007777
D0007777 backplate 2 off need checking before �tment to rotary ring. M5 countersink bolt should be 6ush when �tted .

1 Fastener should be as shown

2 If fastener sits proud, rework plates with countersink tool to ensure correct seating of fastener

Page 2 / 8

https://stuga.dokit.app/wiki/Fichier:Fit_backplates_and_covers_Screenshot_2023-06-05_085445.png
https://stuga.dokit.app/wiki/Fichier:Fit_backplates_and_covers_Screenshot_2023-06-05_082128.png
https://stuga.dokit.app/images/thumb/4/4d/Fit_backplates_and_covers_Screenshot_2023-06-05_082343.png/ia-4490ac5b1ca12a37da75aaf9bb43f605-1000px-Fit_backplates_and_covers_Screenshot_2023-06-05_082343.png.png




Step 3 - Ring Rotation

...Always take care when rotating the ring at this stage. Ensure rotary trunking is monitored at all points when rotating, and any

tight spots or issues should be investigated immediately. Rotary trunking damage is easy when access panel is loose

Step 4 - Fit 1st Backplate A
1 Detach rotary trunking inspection cover.

2 Rotate ring to set datum pin as shown

3 Slide backplate into position between points indicated

4 Use m5 x 10 countersink fasteners and add 1 off to point that is available in current position

Page 3 / 8

https://stuga.dokit.app/images/thumb/4/41/Fit_backplates_and_covers_Screenshot_2023-06-05_082506.png/ia-27663d93e351bf9daecd5f8ecf258218-1000px-Fit_backplates_and_covers_Screenshot_2023-06-05_082506.png.png


Page 4 / 8

https://stuga.dokit.app/images/thumb/2/25/Fit_backplates_and_covers_Screenshot_2023-06-05_082657.png/ia-9d0e9051bcc705b19a8a7090583d8b61-1000px-Fit_backplates_and_covers_Screenshot_2023-06-05_082657.png.png
https://stuga.dokit.app/images/thumb/a/a5/Fit_backplates_and_covers_Screenshot_2023-06-05_082828.png/ia-180ddb192fa5f2fbc0276fa5b49fd88c-1000px-Fit_backplates_and_covers_Screenshot_2023-06-05_082828.png.png
https://stuga.dokit.app/images/thumb/5/52/Fit_backplates_and_covers_Screenshot_2023-06-05_083444.png/ia-339ce7dc54336b4cb6efa455cef59907-1000px-Fit_backplates_and_covers_Screenshot_2023-06-05_083444.png.png


Step 5 - Fit 1st Backplate B
1 Now rotate ring to position one end of �tted backplate at access point, and add 2 off fasteners

2 Rotate ring until other end of back plate is above access point , and add 2 off fastener

3 Now add remaining fasteners to �tted backplate , rotating the ring to provide access at each point

Page 5 / 8

https://stuga.dokit.app/images/thumb/7/73/Fit_backplates_and_covers_Screenshot_2023-06-05_084003.png/ia-cc97f5ab4751f94dd3c4835661ca7206-1000px-Fit_backplates_and_covers_Screenshot_2023-06-05_084003.png.png
https://stuga.dokit.app/images/thumb/7/7d/Fit_backplates_and_covers_Screenshot_2023-06-05_084222.png/ia-707e9cacde9029881ddb6d9f9b8aa8b8-1000px-Fit_backplates_and_covers_Screenshot_2023-06-05_084222.png.png
https://stuga.dokit.app/images/thumb/0/0b/Fit_backplates_and_covers_Screenshot_2023-06-05_084401.png/ia-8324eb53b466263728cdf35db8149eb9-1000px-Fit_backplates_and_covers_Screenshot_2023-06-05_084401.png.png




Step 6 - Fit 2nd backplate
1 Rotate ring to allow backplate 2 to be slid into correct position

2 Add 1st faster at point available, then rotate ring to add fasteners

to both ends of back plate

3 Rotate and add remaining fasteners

4 Ensure backplate joins sit 6ush to each other

...There will be 2 �xing points that will not be accessible at

any point. These points do not require fasteners adding

Step 7 - Re�t Access panel
Re�t cover with m5 Nyloc nuts and washers

Page 6 / 8

https://stuga.dokit.app/images/thumb/4/49/Fit_backplates_and_covers_Screenshot_2023-06-05_090227.png/ia-954e4fc1dbd37e4ef7a0f6a118535d17-1000px-Fit_backplates_and_covers_Screenshot_2023-06-05_090227.png.png
https://stuga.dokit.app/images/thumb/f/f3/Fit_backplates_and_covers_Screenshot_2023-06-05_090605.png/ia-48ab139b286cd105f7d18464f9cb5e06-1000px-Fit_backplates_and_covers_Screenshot_2023-06-05_090605.png.png


Step 8 - Fit connection box covers
8 off D0007844E Connection box covers now need �tting

1 Position cover over connection box, and add 1 off m3 x 10 pan head fastener to point indicated

2 Add 2 off m3 x 12 socket caps with a form washer to point indicated

3 Check spindle slide movement on both assemblies that sit next to the �tted cover to ensure no contact occurs with �tted lid and slide

assemblies

Repeat for 7 off remaining connection boxes

Page 7 / 8

https://stuga.dokit.app/images/thumb/c/c5/Fit_backplates_and_covers_Screenshot_2023-06-05_090914.png/ia-ff02568890e83fb5fcce72b9cb88cd5b-1000px-Fit_backplates_and_covers_Screenshot_2023-06-05_090914.png.png
https://stuga.dokit.app/images/thumb/5/55/Fit_backplates_and_covers_Screenshot_2023-06-05_090932.png/ia-89d2af1bee11f955a83616dc2b06e2fe-1000px-Fit_backplates_and_covers_Screenshot_2023-06-05_090932.png.png
https://stuga.dokit.app/images/thumb/a/ab/Fit_backplates_and_covers_Screenshot_2023-06-05_090942.png/ia-c88bc9410ea7c4c47e96f31476f74706-1000px-Fit_backplates_and_covers_Screenshot_2023-06-05_090942.png.png


Page 8 / 8


	R0015303 Fit backplates and covers
	Contents
	Introduction
	Step 1 - Unless otherwise stated
	Step 2 - Prepare backplates D0007777
	Step 3 - Ring Rotation
	Step 4 - Fit 1st Backplate A
	Step 5 - Fit 1st Backplate B
	Step 6 - Fit 2nd backplate
	Step 7 - Refit Access panel
	Step 8 - Fit connection box covers


